
 

R108773-R108775 
 

 
 
 
 
 
 
 

PARTS LIST 
# PICTURE Description QTY  # PICTRURE Description QTY 
 

1 
  

M10 T-bolt  
with M8 nut 

 
6 

  
2 

  
M8 Flange bolts 

 
6 

 
 

3 

  
 

M10 Flange nut 

 
 
6 

  
 
4 

  
Space plate for 09-14 
mode (drive side front 

bracket) 

 
 
1 

 
5 

 Plastic retainer T-bolt 
holder                                   

( remove before tighten ) 

 
6 

  
 6 

  
M8 Flange nut 

 
6 
 

 
7 
 
 

 

 
Drive side Front bracket 

 
1 

  
8 

 

 
Drive side middle & rear 

bracket 

 
2 

 
9 

 

 
Passenger side bracket 

 
3 

  
10 

 

 
 

T-Bolt 

 
 
6 

 
 

 

Passenger/Right 
Rear Mounting 
Bracket 

Passenger/Right 
Center Mounting 
Bracket 

Passenger/Right 
Front Mounting 
Bracket 

Driver/Left Front 
Mounting Bracket 

Drive/Left Center 
Mounting Bracket 

Driver/Left Rear 
Mounting Bracket 

 
 

Installation Instructions 
09-18 DODGE RAM 1500 Quad & Crew Cab 

 



 

 
 
EMOVE CONTENTS FROM BOX. VERIFY ALL PARTS ARE PRESENT. READ INSTRUCTIONS 
CAREFULLY BEFORE STARTING INSTALLATION. 

Drive Side Installation 
 

 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
  
 
 
 
 
 
                                                                                          
                                                                                       
 

Insert #1T-bolt from the oval hole then show 
up the M8 nut in the small hole. use Plastic 
Retainer to holding the T-bolt 

Shown is 2009 to 2014 
front mounting location 

  

Shown is 2009 to 2014 
center mounting location 

Shown is 2009 to 2014 
rear mounting location 

Page 1 

Pull off the tape 
cover the show 

the oval hole 

Pull off the tape 
cover the show 

the oval hole 

Must remove the Plastic 
Retainer before tightening 

Twist # 3 M10 
Flange nut 

Twist # 3 M10 
Flange nut 

Twist # 2 M8 
Flange bolt 

Twist # 2 M8 
Flange bolt 

 1  2 

 3  4 

 5  6 



 

 
 
 
 
 
 
 
 

 
                                                                                                                                                                                                                  

 
 
 
 
 
 
 
 
 
     9.Repeat steps 1-8 for passenger side installation. 

 
Additional installation for 2015+ Models 

 
 
 
 

 
 
 
 

 
 
 
 

 
 
 

  

 7 

Shown Rear 
Mounting 
Bracket 

 8 

Shown is drive 
side front mount 
place 

See the oval hole 
after tearing the 
plastic cover 

Insert #1 M10 T-bolt and 
secure #3 M10 Flange nut    

Mount the bracket 
with M8 flange bolt 

Tear the cover will show an oval 
hole then insert the M10 T-bolt 

Shown is drive side middle mount place 

 Page 2 

Twist # 3 M10 
Flange nut 

Twist # 2 M8 
Flange bolt 

Adjust the bar to be balance, then 
tighten all the bolts and nuts 

 

Original M8 nut  

Original 
M8 nut  

Complete Installed 

1  2
 

3 4  


	R108773-R108775
	Installation Instructions
	09-18 DODGE RAM 1500 Quad & Crew Cab

